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13th Oct. RRB NTPC Reasoning Sunday Mega Quiz (Solutions) 

 
S1. Ans.(d) 
Sol. 
Pongal is a festival, and rest are different forms of dance.  
 
S2. Ans.(a) 
Sol. 
PE has – 11 series, but rest three have +9 series.  
 
S3. Ans.(b) 
Sol.  

 
 
S4. Ans.(a) 
Sol. CANCEL word is not derived from INTELLIGENCE. 
 
S5. Ans.(d) 
Sol. DANCE = 4 + 1 + 14 + 3 + 5 = 27  
 
S6. Ans.(c) 
Sol. 

 
 
S7. Ans.(c) 
Sol. 

 
 
S8. Ans.(a) 
Sol.  
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S9. Ans.(b) 
Sol. 
1/3 is a recurring or repeating number.  
 
S10. Ans.(d) 
Sol. 

 
 
S11. Ans.(a) 
Sol.  First is the remedy for second.  
 
S12. Ans. (d) 
Sol. Birds fly in sky, sky is called earth. So, earth is the correct answer. 
 
S13. Ans.(b) 
Sol.  

 
 
S14. Ans.(d) 
Sol. Each consonant in the word is moved one step forward to obtain the corresponding letter of the 
code, while the vowels remain unchanged. 
 
S15. Ans.(a) 

Sol.  
 
S16. Ans.(a) 
Sol.  

 
 
S17. Ans.(b)  
Sol. + 5 series 
 
S18. Ans.(c) 
Sol.  

 

http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/
https://store.adda247.com/product-testseries/2116/RRB-NTPC-Premium-2019-Online-Test-Series-NTPC-Special


3 www.bankersadda.com      |    www.sscadda.com       |      www.careerpower.in      |      www.adda247.com 

 

S19. Ans.(d) 
Sol.  

  
  
 
S20. Ans.(c) 
Sol. 18 is correct ans 
 

Paper Maker :- Kishan Vaishnav 
 
 

S21. Ans.(b) 
Sol. 

 
 
S22.  Ans.(c);  
⇒ B + C → Y = 52 = 25 
2 + 3 = 5 
⇒ 𝐴 + 𝐶 → 𝑃 = 42 = 16  
1 + 3 → 4 
⇒ 𝐵 +𝐷 → 𝐽 = 62 = 36  
2 + 4 = 6 
 
S23. Ans.(c) 
Sol. 
Odd day in ordinary year = 1 
So, first day in next year = Monday 
  
S24.   Ans.(a) 
Sol. 

 
 
S25. Ans.(a) 
Sol. 
2nd and  4th position numbers are interchanging their places 
 
S26. Ans.(a) 
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S27. Ans.(c) 
Sol.  

 
  
S28.  Ans.(c) 
Sol. 
 
S29. Ans. (a) 

  
 
S30. Ans.(d) 
Sol. G. A 
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